BID SUMMARY April 16, 2012

1. No. CC041612-02.1 – 2012 Miscellaneous Improvements Projects, Project No. MIP12-2004 / CIP No. 50298 (Opened on April 10, 2012)

ADVERTISING AUTHORITY \$100,000.00 ENGINEER'S ESTIMATE (Base + Alt #1) \$90,000.00

	Base Bid	Alternate 1
Stanley J Johnsen Concrete Contractor, Inc.**	\$98,825.70	\$20,673.75
2. Simon Contractors of SD, Inc.**	\$133,350.00	\$36,494.00
3. Tru-Form Construction, Inc.**	\$121,171.75	\$26,804.75

^{*} Cashier's Check, Money Order or Bank Draft Submitted

2. No. CC041612-02.2 – 2012 Microsurfacing Project, Project No. 12-2021 / CIP No. 50798 (Opened on April 10, 2012)

ADVERTISING AUTHORITY \$200,000.00 ENGINEER'S ESTIMATE \$174,000.00

Base Bid \$226,076.00

3. No. CC041612-02.3 – Saint Joseph Street Joint Sealing, Project No. 12-2028 / CIP No. 50445 (Opened on April 10, 2012)

ADVERTISING AUTHORITY \$110,000.00 ENGINEER'S ESTIMATE \$100,000.00

Base Bid
1. J V Bailey Co.**
2. Stanley J Johnsen Concrete Contractors, Inc.**
3. Simon Contractors of SD, Inc.**
\$148,390.00
\$82,221.50
\$113,196.00

^{**} Bid Bond Submitted

^{1.} Ballou Pavement Solutions, Inc.**

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: April 10, 2012

PROJECT: 2011 Miscellaneous Improvements Project

Project No. MIP12-2004 / CIP No. 50298

RECOMMENDATION: Award Total Base Bid plus Alternate #1 in the amount of \$119,499.45 to Stanley J. Johnsen Concrete Contractor, Inc. at the April 16, 2012 Council Meeting.

BIDDER'S SUMMARY

Bidder	Base Bid	Alternate #1
Stanley J Johnsen Concrete Contractor, Inc.	\$98,825.70	\$20,673.75
Tru-Form Construction, Inc.	\$121,171.75	\$26,804.75
Simon Contractors of SD, Inc.	\$133,350.00	\$36,494.00

City staff recommends awarding this project to Stanley J. Johnsen Concrete Contractor, Inc. for a total base bid plus alternate #1 in the amount of \$119,499.45 based on unit pricing with the following appropriation:

FUNDING SOURCE ADVERTISING AUTHORITY TOTAL MIP \$100,000.00 \$90,000.00

ENGINEER'S ESTIMATE

APPROPRIATION DATA:

FUNDING SOURCE

COST CENTER

LINE ITEM

FUNDING CENTER

BID AMOUNT

TOTAL	MIP
	4370
	8913
	0505
\$119,499.45	\$119,499.45

PROJECT MANAGER.

Paul Faiman

DATE: 4/11/2012

PROJECT NAME: 2012 MISCELLANEOUS IMPROVEMENTS PROJECT

PROJECT NUMBER: PROJECT NO. MIP12-2004 / CIP NO. 50298.

LET DATE: APRIL 10, 2012 LOW BID AMOUNT: \$98,825.70

			ENGINEER'S	S ESTIMATE	CONCRETE C	J. JOHNSEN CONTRACTOR, IC.		FORM CTION, INC.	SIMON CONT SD,		
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BASE BID		•									
1	MOBILIZATION	LS	1.00	\$9,000.00	\$9,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00
2	SAW & REMOVE ASPHALT PAVEMENT	SY	300.00	\$24.75	\$7,425.00	\$14.50	\$4,350.00	\$16.00	\$4,800.00	\$16.50	\$4,950.00
3	REMOVE CURB & GUTTER	LF.	270.00	* \$12,50	\$3,375.00	\$9.00	\$2,430.00	\$24.00	\$6,480.00	\$12.00	\$3,240.00
4	REMOVE SIDEWALK	SF	1,850.00	\$2,50	\$4,625.00	\$2.00	\$3,700.00	\$4.25	\$7,862.50	\$2.00	\$3,700.00
5	REMOVE CONCRETE APPROACH	SY	22.00	\$25.00	\$550.00	\$16.85	\$370.70	\$40.00	\$880.00	\$60.00	\$1,320.00
6	REMOVE CONCRETE FILLET	SY	40.00	\$25,00	\$1,000.00	\$55.00	\$2,200.00	\$40.00	\$1,600.00	\$36.50	\$1,460.00
7	INSTALL CONCRETE SIDEWALK, 4"	SF	2,690.00	\$5.25	\$14,122.50	\$4.50	\$12,105,00	\$5.75	\$15,467.50	\$6.40	\$17,2 1 6.00
8	DETECTABLE WARNING PANELS	SF	162.00	\$25.00	\$4,050.00	\$35.00	\$5,670.00	\$27.00	\$4,374.00	\$22.00	\$3,564.00
9	CURB AND GUTTER	LF	270.00	\$27.50	\$7,425.00	\$26.00	\$7,020.00	\$35.00	\$9,450.00	\$34.00	\$9,180.00
10	INSTALL CONCRETE FILLET	SY	95.00	\$90.00	\$8,550.00	\$70.00	\$6,650.00	\$90,00	\$8,550.00	\$96.00	\$9,120.00
11	REINFORCED CONC. SIDEWALK, 6"	SF	400.00	\$10.00	\$4,000.00	\$8.00	\$3,200.00	\$9.75	\$3,900.00	\$9.50	\$3,800.00
12	REINFORCED CONC. APPROACH	SY	105.00	\$100.00	\$10,500.00	\$55.00	\$5,775.00	\$85.25	\$8,951.25	\$70.00	\$7,350,00
13	PCC PAVEMENT (9")	SY	60,00	\$100.00	\$6,000.00	\$70.00	\$4,200.00	\$106.00	\$6,360.00	\$99,00	\$5,940.00
14	DIGOUTS W/ TYPE 3 MATERIAL	CY	25,00	\$75.00	\$1,875.00	\$85.00	\$2,125.00	\$35.00	\$875.00	\$114.00	\$2,850.00
15	BASE COURSE	: TN	190.00	\$25.00	\$4,750.00	\$35.00	\$6,650.00	\$22.75	\$4,322.50	\$55,00	\$10,450.00
16	ASPHALT PAVEMENT (PG 58-28)	TN	80.00	\$112.50	\$9,000.00	\$180.00	\$14,400.00	\$200.00	. \$16,000.00	\$144.00	\$11,520.00
17	AASHTO T-180	EA	1.00	\$200.00	\$200.00	\$130.00	\$130.00	\$300.00	\$300.00	\$160,00	\$160.00
18	TYPE 'B' ADVANCE ARROW PANEL	EA	2.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$750.00	\$1,500.00	\$560.00	\$1,120.00
. 19	TRAFFIC CONTROL	LS	1.00	\$7,500.00	\$7,500.00	\$4,000.00	\$4,000.00	\$6,500.00	\$6,500.00	\$8,000.00	\$8,000,00
20	PLASTIC CONCRETE TESTS	EA	10.00	\$250.00	\$2;500.00	\$150.00	\$1,500.00	\$200.0 0	\$2,000.00	\$150.00	\$1,500.00

21	INCIDENTAL	LS	1.00	\$5,000.00	\$5,000.00	\$2,700.00	\$2,700.00	\$4,000.00	\$4,000.00	\$13,000.00	\$13,000.00
22	FURNISH & PLACE SOD	SY	20,00	\$50.00	\$1,000.00	\$25.00	\$500.00	\$7.00	\$140,00	\$75.00	\$1,500.00
23	EROSION WATTLES, 9"	EA	3.00	\$100.00	\$300.00	\$70.00	\$210.00	\$35.00	\$105.00	\$390.00	\$1,170.00
24	OUTLET/INLET PROTECTION	EA	8.00	\$50.00	\$400.00		\$1,440.00	\$219,25	\$1,754.00		\$2,240.00
	TOTAL BASE BID		\$ 114, 1 47.50		\$98,825.70		\$121 _: 171.75		\$133,350.00		

ALTERNATE 1 / SITES 13-14-15											
							·····				·
1	MOBILIZATION	LS	1.00	\$1,500.00	\$1,500.00	\$1,905.00	\$1,905.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
2	SAW & REMOVE ASPHALT PAVEMENT	SY	35.00	\$24.75	\$866.25	\$14.50	\$507.50	\$16.00	\$560.00	\$36.00	\$1,260.00
3	REMOVE CURB & GUTTER	LF	140,00	\$12.50	\$1,750.00	\$10.00	\$1,400.00	\$24.00	\$3,360.00	\$9.50	\$1,330.00
4	REMOVE SIDEWALK, 4"	SF	105.00	\$2.50	\$262.50	\$3.60	\$378.00	\$4.25	\$446.25	\$3,00	\$315.00
5	INSTALL CONCRETE SIDEWALK	SF	555.00	\$5.25	\$2,913.75	\$5.15	\$2,858.25	\$5.75	\$3,191.25	\$6,40	\$3,552.00
6	DETECTABLE WARNING PANELS	SF	10.00	\$25.00	\$250.00	\$35.00	\$350.00	\$27.00	\$270.00	\$22.00	\$220.00
7	CURB AND GUTTER	LF	167,00	\$27.50	\$4,592.50	\$20,00	\$3,340.00	\$35,00	\$5,845.00	\$36.00	\$6,012.00
8	BASE COURSE	TN	25.00	\$25.00	\$625.00	\$35.00	\$875.00	\$22.75	\$568.75	\$55.00	\$1,375.00
9	ASPHALT PAVEMENT (PG 58-28)	TN	10.00	\$112.50	\$1,125.00	\$215.00	\$2,150.00	\$200.00	\$2,000.00	\$180.00	\$1,800.00
10	F&I HANDRAIL	EA-	1,00	\$1,500.00	\$1,500.00	\$1,550.00	\$1,550.00	\$1,020.00	\$1,020.00	\$1,050.00	\$1,050.00
11	EROSION WATTLES, 9"	EA	3.00	\$100.00	\$300.00	\$70,00	\$210.00	\$35.00	\$105.00	\$400.00	\$1,200.00
12	F&I GABION BASKETS	EA	2.00	\$500.00	\$1,000,00	\$94 5.00	\$1,890.00	\$1,250.00	\$2,500.00	\$1,000.00	\$2,000.00
13	TRAFFIC CONTROL	LS	1.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00
14	INCIDENTAL	LS	1.00	\$1,500.00	\$1,500:00	\$1,400.00	\$1,400.00	\$2,000.00	\$2,000.00	\$10,100.00	\$10,100.00
15	OUTLET/ INLET PROTECTION	EA	2,00	\$50.00	\$100,00	\$180,00	\$360.00	\$219.25	\$438.50	\$390.00	\$780.00
	TOTAL ALTERNATE 1		\$19,785.00		\$20,673.75		\$26,804.75		\$36,494.00		

certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Paul Faiman Project Manager